e R [ [ g »E
765+15=51 = 765+ 15 =] |

> E:

> ®E: 51

~&B

)
L,
o

765 =15 = 51°J| 4] 76.5 + 15 =
Yol 47} Lo} e nz

1
FE o7k =Y,
76.5+15=5.1




2.

21017} 63.2cm ¢l Lo 2 Aoztee

2 sfof P FakAl 2.

d

-




3. e AASA L.




1044 + 36 = 20912 ©]-83}o] The 1heAle] & ToHAL.
0.1044 + 36

> E.

> HEeH: 0.0029

B

1044 + 36 = 29°114 0.1044 + 36 &

1
Loj A= <=7 H Jonr
Yol 47} oW Fgens
1
= L gy

1000
0.1044 + 36 = 0.0029




>
> =e 27

~&B

o= & &9 &4 AR A7t 0Q YAlAo] ofd AL BE
7HQ1A] HLSFA] 2
7F 90.45 = 15 U 61.36 + 13
o} 96.72 + 24 g} 52.29 = 21
=i 7h

WL

7}. 90.45 + 15 = 6.03
. 61.36 + 13 = 4.72
t}. 96.72 + 24 = 4.03
2} 52.29 + 21 = 2.49

whakA] s} af, 24 Iuit,




6. T3 UeAo] gdikaoz SHEE 718 120
35.4+16
D 2.212x16+8 =354 @ 22.25x16 = 35.4
® 22.125x 16 = 35.4 @ 2.225x16 =354

(©)2.2125x 16 = 35.4

B

354 + 16 = 2.2125

U270 )1 WAl o] kA2

(%) x (e F) = (Hroldle &) gyt
wHebA] 35.4 + 16 = 2.2125 0] AAHAL

2.2125 x 16 = 35.4 Y4t}




e LS B, a2 AL ol AU

35.28 +7

B AAAL 54%x 7 = 35289t}

3 3528 + 7 = 5.04
® AAAL 504 x 7 = 35.28 YU}




TS OS] >, =, <& LA HYEOA Q.

912+120 144 +15

9.12 + 12 =0.76, 14.4 + 15 = 0.96
912 +12< 144 +15




9.

O WAl Foll A HrofE o] 2] 4]

O 22+5 @ 9+38

@ 6+80 ®)36.4+6

~&B

ol
o

FE e ol A7

D22+5=44
®9+8=1.125
®112+4=28

@ 6 +80 =0.075

® 36.4+6 =6.066-- -




S

(1)

20
16

(2)

3.75

ke

ul
KO

O | <t <t

o) (@] [ele){e]
N OO

20-8=2.5

(2)

1.25

165%8_00

o
<t

(ele]
0000

©

20 +16 =1.25

(1) +(2)

2.5+ 1.25 =3.75




SR W bY 2 5

o A

rr

O 0.418 @ 0.374 ® 0.399 @0.542 ® 0.289

5

B

@ 0.428 — 0.4

@ 0.374 - 0.4

@ 0.399 — 0.4

@ 0.545 — 0.5

® 0.289 — 0.3

whehA] A EA Ao A HE
Ayt

243S o 71 5 0.542




16.6

)
9.8+ 1.7x4=16.6

(3
[]




13. [ [erol gdwe 22 HYoA e,
5184+ 48 = 108 —» 51.84 + 48 =| |

> =

> &= 1.08

~&B

5184 + 48 = 108 9| 4] 51.84 + 482

Wil 47} oMt Ao nz

1
e

51.84 + 48 = 1.08




1.04kg

5.2+ 5= 1.04(kg)




15.

o7k 45em Q1 Fol Hol &7t 20 AU Fol Ho|Z Afol&
LA E em ] AAAA £ 2082 ¢ == o|AHY Ao|7}

867.7cm 7t HAFUT Fo] Ho|Z Afo]E R cm
=4 TS L.
» E: cm

> & 1.7cm

B \

ZFoldo] = 2072] Aol 45 x 20 = 900( cm)
AAZ BE 900 - 867.7 = 32.3(cm)

AAR L 20-1=19(H)

BAAN B2 3ol Zo]: 32.3+19 = 1.7(cm)




o

3.25L

b

ul o]y 7}
.l

16.

=)

vy

N

(2o

Il

I~

._.

o)

— ﬁ(.

® A

g)\:/

iy = 5o
]LFO

e

_WQU_.E

R~

c._o51m_l

o X =

0 0

zTquaT

o T

[e)




17.

w017} 56.4 cm? ]2, A O] Zo]7} 16 cm
A7t

[> HE . 7.05cm




18.

ARz ol A @] Aol oF B em AR HHE S
OF )
QF

2 74| F5HAL.(0.666 - - - —

>
[> e 9F4.62cm

© 9HEZ

13x @) <2

@ YHE 5cm, =0|8 OS2
1222

22 Aol B2 O @49
13x@®+2=5x12=2
13x@+2=060
@D=60x2+13

) =120+13

@ =4.615---

watA @ = 4.62(cm) JUTh

LR E

L
=i
£
rlr
.

13cm, £°]E 922 & A9 4439 4




2

3

the 2% F 42 947 Apole] 9k 48 BEF 1A,

7

@® 4.28 @

8

3 4.385

i~
=~ Do

3

8

_r_

@ 1381 (G)a352

:?:30%7:4.285“
:%:35+8=4.375
% Apole] Sl

2= 4.3 7} 4.352 4t}




o]
A
oo

H=

W
Fol erHAlL. (

T ARgSke] ol 71 2
AAp2] o A vhEHs

D=0

42.8

985 + 23 =42.82---

— 42.8




